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Note : Attempt all questions.
fder $ () FAPA F wAm F FEfT & T
Instructions : Use of calculator is not permitted.

(#) YA FEF 1 H 99 @ve €1 |vs () ¥ aglasaid ¥e, |vs (3)
¥ e s # qfd 9 @ve (W) W v/ sme fafay few w E
TAF T W 1 & HAEfeq R

Question No. 1 is in three parts. In Part (A) Multiple choice
questions in Part (B) Fill in the blanks and in Part (C) Write true/
false are given. Each question carries 1 mark.

(i) I WHE 2 W 6 qh AfegEuiid ¥ §) TWE YW | 2 3w
amEfea )
Question Nos. 2 to 6 are very short answer type questions. Each
question carries 2 marks. ‘
(iv) W FEF 7 ¥ 10 q&F ARy W9 ¥) T@E T W 3 of%
rifed € )
Question Nos. 7 to 10 are very short answer type questions. Each
question carries 3 marks.
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Question Nos. [1 {o 14 arc short answer type questions. E:c
question has an intemal choice. Each question carrics 4 marxs.

YA wEE 15 W@ 1eﬁa‘gﬁﬁﬂw‘§|mmﬁﬂﬁﬁﬁ
fed ¥ TOF W W 5 i e €

Question Nos, 15 and 16 are short answer type questions. li:-;Ch
question has an internal choice. Each question carmes 5 marks.
mmiquﬁwaﬂﬁaﬁﬂﬂm%lmmﬁmﬁaﬁfam
¥ YT W W 6 i mEfed ¥

Question Nos. 17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.

U91-1

TWue-( 1) T fawey e fafan :

Part-(A) Choose and write the correct option :

@) fr A A F-| =ew g T 8 ?
(3) 32+ Tx -2

(7) 2x+3

(@) x*-3Jx+2

2

1
—_—x+3
(@ -3%

Which of the following cxpressioné is not a polynomial?

(@)
)
(©)

(@)

3x2 + Tx - 2

2% + 3
x2=3Jx+2
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(&) =g

(7) Wi

(%) =g

The relation between two equivalent ratios is :
(a) proportion

(b) square ratio

(c¢) inverse ratio

(d) cube ratio

Y JEFT T 2,000 T fem 3TEK 3% FY R | TN -

(37 T 600 (%) T 200
(]) T 20 () T 60
Educational cess at the rate of 3% on given taxable amount ¥ 2,000
will be :

(@) T 600 » T 200
(c) T20 (d T 60
fag (-3, -5) fm wguta 7 g2

(37) wgd =guta

(%) qarq =gater

(7) fedta wguty

(3) wuw =gutv

In which quadrant, will the point (=3, -5) lie?
(¢) Fourth quadrant

(b) Third quadrant

(c) Second quadrant

(d) First quadrant
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(v) (cosec20 — 1) 1 A &N :

(37) cos20 (@) cosec?0
(¥ tan?6 (g) cot?0
The value of (cosec?0 — 1) will be :

(@) cos?0 (b) cosec?®
(¢) tan?0 (d) cot?0

Tus-(«) fied sl =t gfd =i

Part-(B) Fill in the blanks :

() 3R qaR A w A ) (2n—1) , @ AoR = dEw 7§ —— T
" If the nth term of the arithmetic progression is (2n—1), then the

3rd term will be .

Gi) afz J9 ¥ v fifven wg ¥ fag wegee o S S S @
IW —— W G Fed ‘
If a fixed amount is deposited in a bank for a fixed period, then

it is known as ___ deposit account.
i) 7@ fag + Fdwid — € ¥
The coordinate of the origin point is __ .
(iv) T ga #1 =@ e fem @ —— et )
The diameter of a circle is ___ of its radius.
v) it gatrm 9gye — ¥ €|

All congruent polygons are ___.

|- W) 94 / 35 fafay :
Part-(C) Write true / false :
() @ @u gEnsli w1 dm wiE WY HeN Tl ¢

The sum of two even numbers is always even number.

i) Frdl T @ fag § 99 W 9K WY @] G o g ¥y

Four tangents can be drawn on the circle from one outward point.
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(fi7) Mt ARFO ax? + bx + ¢ = 0 F faNgH D = b% — dac ¥}

Discriminant of quadratic equation ax? + bx + ¢ = 0 is
D = b? - 4ac.

(iv) T & Fa fawul 1 d=md 16 T

The number of total diagonals of a cube is 16.
(v) tan30° F WA V3 g ¥

The value of tan 30° is 3.

-2 G 9 p(x) = 23 — Sx + 4 B, @ p(2) 9 p(0) F WA T ST
If the polynomial p(x) = 2x3 - 5x + 4, then find the values of p(2) and
P(0). http://www.cgboardonline.com

uer-3 AR 8:14::x:28 %, @ x F AR W@ FRTCY
If 8 :14:: x: 28, then find the value of x.

UPF-4 A& W@I 3x - Sy + 17 = 0 F! ¥aor 3R p-38 W FR& T A9 G0S

T wifag |

Find the slope of the straight line 3x — Sy + 17 = 0 and intercept cut
on the y-axis.

uy-5  HA Fd FifC

2sec23°

cosec67° +oot45°

Find the value of ;

2sec23°
cosec67°

+cot45°

-6 AES 5, 6,7, 8,910, 11, 12 F FHR MG F@ W)

Find the arithmetic mean of the following data :
5,6,78,09,10, 11, 12
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Construct a quadratic cquation whose roots arc 3 and — 8.
mls//évn I+ 13+154 17+ & 14 T 7% AR 17 PIAC b
Find the sum of 14 terms of the scrics 11 + 13 + 15 + 17 + -,

WA-9 . AT W AW 14 A0 aw S 10 R, T, D AW F THYS 7@
v uue

The diameter of a cylinder is 14 cm and its height is 10 cm, then find the
curved surface of the cylinder,

q91-10 Szﬂﬁﬁwﬁﬁﬁwﬁ?ﬁ?mnﬁﬁ@mﬂaﬂmmemﬁ“mm
| ,

Prove that the sum of three successive even integers is always a multiple
of 6.

m—11 A1 wifteit 1 agas J@ Sk Q(O-Qq

R | 0-10 |10-20( 2030 | 3040 | 40-50 | 50-60

Fgfa 9 17 28 23 15 8

Find the mode of the following table :
Class

Interval
Frequency 9 17 28 23 15 8

0-10 [ 10-20( 20-30 | 30-40 | 40-50 | 5060

3rerar
OR
= arfteit &t wiftgen @ Fifsg

= 0-10 | 10-20(20-30 | 30-40 | 40-50 | 50-60

Agid 4 6 10 7 3 2

Find the median of the following table :

Class 1010 | 1020 20-30 | 3040 | 40-50 | 50-60
Interval
Frequency -{ 4 6 10 ! 3 2
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I the diameter of basc of a conc is 14 cm and height is 24 cm, then
find the whole surface arca and volume of the cone.

STeqr
OR

afe MA F JW 12 AW, 2, @ TN F YL GBS q90 FAT A
HIfT
If the diameter of sphere is 12 cm, then find the surface area and volume

of the sphere.

WWT@WWWWWWE%am’@ﬁ@
(0, 5) A B WA ¥ ?
Find the equation of straight line whose slope is 10 and passes through
the point (0, 5). 3

HAUGr

OR

AT 300 F94 W 5 Wfaw Aiftfer o9 F W W HA: 1, 2, 3, 4TS
T4 ¥ foau Ty = fe |fti 3 weidia ©

a9g (4 H) 0 1 2 | 3 4
HuRY =S (gqa |) | 0 | 1S | 30 [ 45 | 60 [ 75

T4 991 QYRY AN § | AeE Gife |

The simple interests on principal T 300 at the rate of 5% per annum for

wh

1,2, 3, 4 and 5 years respectively are shown in the following table :

Time (in year) 0 1 2 3 4 5

Simple Interest (in Rs.) 0, 15|30 | 45| 60 | 75

Draw a graph between time and simple interest.
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ZOPQ =1 AR ¥ Fifeg) s¢ =46
R
0

N

In figure, O is centre of a circle and PQ is a chord. If £LPRQ = 50°
then find the valuc of ZOPQ.

o

3

ABC ws Ty« §, fsra¥ 4D 1 BC, fag #ifae f&
AB? + CD? = BD? + AC?

ABC 18 a triangle in which 4D L BC, prove that
AB? + CD? = BD? + AC?

AABC ¥ uftma gq &1 &N Fifag, f5aq BC = 6 /., £B = 70° a=m
AB = § AL | =M ¥ g M fafEw)

Construct the circumcircle of a AABC in which BC = 6 cm, ZB = 70°

and AB = 5 cm. Write steps of construction also.

Far \
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TS s POR &1 o1 sif 1 @ o sl ABC fge ) o g

el 4B=2PO R

Construct a triangle PQR. Also construct a triangle ABC in which

AB=%PQ,

WYR-16  WET 7 9% § 100 T9d whowe Y W A 5 ad F fau snad oW @
G| AR S R 6% MF @, @ 5 T wvew @ e o
Bt ?
Mohan opened a recurring deposit account in Bank for 5 years and
deposited T 100 every month. If the rate of interest is 6% per annum, then
how much amount will he get after 5 years?
3eqr
OR
™ J 9% § wEfy W F w9 H 40,000 TR 1 9 F A 10% fiE ==
F W A v fwan of = oAR) @aifea @ R, A wResaa % gvEmE
W &1 foaT w7 W gem?
Ram deposited T 40,000 in Bank in fixed deposit account for 1 year at
the rate of interest as 10% per annum. If the interest 1s calculated for
six month, then how much amount will Ram receive after maturity?
wt-17  faz €ifse
sin@ +1+.cosﬁ = 2 cosech
1+cos®  sinO
Prove that
sin6 N 1+_cosB —2cosech
l+cos8 sin®
S2A P.T.O.
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HYqT
OR

ferelt W & Rrat o1 W ¥ feedt fg A 3= @7 30° €1 AR HAR
F faon § 20 Wer 9w W o w1 3= FW 45° § S g, 9 AR
9 @ HAT

The angle of elevation of the top of a tower from a point on a ground Jevel
is 30°. If on walking 20 metres towards the tower the angle of elevation of
the top becomes 45°, then find the height of the tower.

WA-18 ARa:b =c:d @, @ fog Ifw

az+c2_££
b*+d? bd

If a: b =c:d, then prove that
az-i-cz__ﬂ
b2 +d* bd

37YaT

OR

HHt &1 g Fife (3@ fafugr) -
4x — 5y =20 AR 3x + S5y = 15

Solve the equation (by graphical method) :
4x — S5y =20 and 3x + 5y = 15

— 1,65,000
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